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a

5-5-4

a 1+B/2R

=1+ Z/2H +B/2R



Nel( )| Ne2( )| Ne3( )| Ne4( ) | Ne5( ) | Ne6( )
[ (Ml 17 18 19
[ m1] 13 13 13 15 16 17
[ (m] - - - 80 80 80
[ (M1 73 72 72
[ el 1/120 1/120 1/120 1/120 1/120 1/120](5-5-2)
[d (] 0.15 0.15 0.15 0.15 0.15 0.15|(5-4-2)
0.5 0.5 0.5 0.5 0.5 0.5
0.5 0.5 0.5 0.5 0.5 0.5
[ d(ml 1.6 1.6 1.6 1.7 1.9 2.1[(5-5-2)
[ (Ml 3.0 3.0) 3.0 3.0 3.0 3.0
[ (M 0.9 1.0 1.0 0.8 0.5 0.3
[ d ] 2.1 2.0 2.0 2.2 2.5 2.7](5-5-2)
[ 1] (5-4-3)
[ 2] 0.030 0.030 0.030 0.030 0.030 0.030](5-4-2)
[ 3] 0.024 0.032 0.024 0.024 0.032 0.032|(5-4-4)
[ 4] 0.032 0.032 0.032 0.032 0.032 0.032
[ 1] 0
[ 2] 10.9 11.0 11.0 12.8 13.5 14.3
[ 3] 2.3 2.2 2.2 2.5 2.8 3.0
[ 4] 2.3 2.2 2.2 2.5 2.8 3.0
[ 1 15.6 15.5 15.5 17.7 19.1 20.3
(n173/2x S1) 0.000 0.000 0.000 0.000 0.000 0.000
(n273/2x S2) 0.057 0.057 0.057 0.067 0.070 0.074
(n313/2x $3) 0.009 0.013 0.008 0.009 0.016 0.017
(n4n3/2x S4) 0.013 0.013 0.013 0.014 0.016 0.017
0.079 0.083 0.078 0.090 0.102 0.109
0.029 0.031 0.029 0.029 0.031 0.031](5-4-1)
[vm] 1/n dr2/3 erl/2 4.3 4.0 4.2 4.5 4.6 4.9|(5-4-2)
[ dl 0.5 0.5 0.5
[ /Hd] 6.2 6.5 6.5
[Hd/dR]
[Hs/Hd]
[Hmaxs]
[ s]
[ 1 0.5 0.5 0.5 (5-5-4)
[ 0.8 1.0 1.2
[ /r] 0.4 0.4 0.4
[Hnax/Hd] 1.7 1.7 1.7
[Hmax] 3.7 4.3 4.6
[ sl 1.5 1.8 1.9
L 1 0 15| o 8] o 19](5-5-9)
a1 1 (5-5-3.1)
( 2/2Hd) | 0.12 0.13 0.13
a1 1+( Z/2Hd) 1.12 1.13 1.13) (5-5-3.1)
( /2R) |
a1l 1+( /2R) (5-5-3.2)
( z/2Hd) | 0 0.34] 0 o.38] o0 o.35]
( /2R) | 0.09 1.10 0.11
a1 1+( /2R)+( Z/2Hd) 1.09 143[1.10 148]1.11 1.46](5-5-3.2)
( /2R)
a1 1+( /2R) (5-5-3.2)
( 2/2Hd) |
( /2R) |
a1 1+( /2R)+( Z/2Hd) (5-5-3.2)
bw/H1 ~ a2 0.9 0.9 0.9 0.9[(5-5-3.2)
bw/H1 L a2 1.0
o 1.12 1.12 1.12[0.98 2-49[0.99 140]1.00 1.46]
4.4 4.6 4.9
[ 0] 0a m 4.8 4.5 4.6 5.4 [ 7-1{(5-5-5)
nean 0 4.6 4.6 76 (5-5-5)
« ) ) L ( )
( )
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